

# 2011 Reserves and Non-Reserve Mineralization

As of December 31, 2011

Disclosed in Newmont's 2011 Annual Report filed on February 24, 2012



### Non-Reserve Mineralization Definitions and Cautionary Statement

#### **Defined terms and Statement Regarding Reserves and NRM:**

lan Douglas, Newmont's Group Executive of Reserves and Geostatistics, is the qualified person responsible for the preparation of the reserve and NRM estimates in this presentation. The reserves disclosed in this presentation have been prepared in compliance with Industry Guide 7 published by the SEC. Investors are encouraged to read the footnotes to the tables included on slides 28-33, as well as the definitions and cautionary statements included herein.

As used in this presentation, the term "reserve" means that part of a mineral deposit that can be economically and legally extracted or produced at the time of the reserve determination. The term "economically," as used in this definition, means that profitable extraction or production has been established or analytically demonstrated in a full feasibility study to be viable and justifiable under reasonable investment and market assumptions. The term "legally," as used in this definition, does not imply that all permits needed for mining and processing have been obtained or that other legal issues have been completely resolved. However, for a reserve to exist, Newmont must have a justifiable expectation, based on applicable laws and regulations, that issuance of permits or resolution of legal issues necessary for mining and processing at a particular deposit will be accomplished in the ordinary course and in a timeframe consistent with Newmont's current mine plans. Reserves in this presentation may be aggregated from the Proven and Probable classes.

As used in this presentation, the term "non-reserve mineralization" or "NRM" refers to Measured, Indicated and/or Inferred materials, which are exclusive of reserves. Newmont has determined that such NRM would be substantively the same as those prepared using the Guidelines established by the Society of Mining, Metallurgy and Exploration and defined as Resources. Estimates of NRM are subject to further exploration and development, are subject to additional risks, and no assurance can be given that they will eventually convert to future mineral reserves of the Company. In addition, our current or future reserves and exploration and development projects may not result in new mineral producing operations. Even if significant mineralization is discovered and converted to reserves, it will likely take many years from the initial phases of exploration to development and ultimately to production, during which time the economic feasibility of production may change.

Additionally, references to "attributable ounces," "attributable pounds" and "attributable mineralization" in this presentation are intended to mean that portion of gold or copper produced, sold or included in Proven and Probable reserves or NRM that is attributable to our ownership or economic interest.

For a description of the key assumptions, parameters and methods used to estimate mineral reserves and mineralized material, as well as a general discussion of the extent to which the estimates may be affected by any known environmental, permitting, legal, title, taxation, socio-political, marketing or other relevant factors, please see Newmont's most recent Annual Report on Form 10-K, filed on February 24, 2012, and other SEC filings.

Cautionary Statement: Investors are cautioned that statements regarding future exploration results, reserves and non-reserve mineralization contained herein or in other Newmont presentations and press releases are estimates and are forward-looking statements, which are based upon certain assumptions, which may prove to be incorrect. Such assumptions, include, but are not limited to: (i) there being no significant change to current geotechnical, metallurgical, hydrological and other physical conditions; (ii) permitting, development, operations and expansion of the Company's early stage and other projects being consistent with current expectations and mine plans; (iii) political developments in any jurisdiction in which the Company operates being consistent with its current expectations; (iv) certain exchange rate assumptions; (v) certain price assumptions for gold, copper and oil; and (vi) prices for key supplies being approximately consistent with current levels. Where the Company expresses or implies an expectation or belief as to future events or results, such expectation or belief is expressed in good faith and believed to have a reasonable basis. However, such statements are subject to risks, uncertainties and other factors, which could cause actual results to differ materially from future results expressed or implied by the "forward-looking statements". For additional information regarding key risk factors and assumptions, please see Newmont's most recent Annual Report on Form 10-K and other SEC filings. The Company does not undertake any obligation to release publicly revisions to this information to reflect events or circumstances after the date of this document, or to reflect the occurrence of unanticipated events, except as may be required under applicable securities laws. Continued reliance on such estimates is at investors' own risk.

### Attributable Proven, Probable and Combined Gold Reserves

Attributable Proven, Probable, and Combined Gold Reserves <sup>(1)</sup>														
December 31, 2011											December 31, 2010			
		Proven Reserves			Probable Reserves			Proven and Probable Reserves			Metallurgical Recovery	Proven + P	robable	Reserves
	Newmont Share	Tonnage (000 tons)	Grade (oz/ton)	Gold (000 ozs)	Tonnage (000 tons)	Grade (oz/ton)	Gold (000 ozs)	Tonnage (000 tons)	Grade (oz/ton)	Gold (000 ozs)		Tonnage (000 tons)	Grade (oz/ton)	Gold (000 ozs)
North America		(ooo tons)	(02/(011)	(000 025)	(ood tons)	(02/(011)	(000 025)	(ooo tons)	(02/(011)	(000 025)		(ooo tons)	(02/(011)	(000 025)
Carlin Open Pits, Nevada <sup>(2)</sup>	100%	92.600	0.058	5,410	239.100	0.030	7.210	331.700	0.038	12.620	77%	263,600	0.043	11,320
Carlin Underground, Nevada	100%	11,300	0.030	3,070	6,700	0.300	2.020	18.000	0.282	5.090	86%	14,600	0.307	4,480
Midas, Nevada	100%	300	0.315	80	500	0.177	80	800	0.226	160	95%	600	0.319	190
Phoenix, Nevada	100%	24.900	0.018	460	422,200	0.016	6.790	447.100	0.016	7.250	72%	329,800	0.018	6,090
Twin Creeks. Nevada	100%	10,600	0.097	1.020	37,700	0.073	2,760	48,300	0.078	3,780	80%	57,800	0.076	4,390
Turquoise Ridge, Nevada <sup>(3)</sup>	25%	1,700	0.444	740	2,300	0.440	1.020	4.000	0.442	1,760	92%	3,100	0.457	1,410
Nevada In-Process <sup>(4)</sup>	100%	23.000	0.020	460	2,000	0.440	0,020	23.000	0.020	460	65%	28,500	0.022	610
Nevada Stockpiles <sup>(5)</sup>	100%	65,100	0.053	3,440	3,100	0.028	90	68.200	0.052	3,530	76%	36,700	0.074	2,700
Total Nevada	10070	229.500	0.064	14,680	711,600	0.028	19,970	941,100	0.032	34,650	78%	734,600	0.042	31,200
La Herradura, Mexico	44%	51.000	0.004	1,090	60.400	0.020	1,240	111,400	0.021	2,330	62%	105,700	0.022	2,290
TOTAL NORTH AMERICA	44 /0	280.500	0.056	15.770	772.000	0.027	21.210	1.052.500	0.035	36.980	77%	840.300	0.040	33,490
South America		200,000	0.000	10,770	772,000	0.021	21,210	1,032,300	0.000	30,300	1170	040,000	0.040	55,450
Conga. Peru <sup>(6)</sup>	51.35%	0		0	303.400	0.021	6.460	303.400	0.021	6.460	75%	317,200	0.019	6,080
Yanacocha Open Pits <sup>(7)</sup>	51.35%	34.200	0.050	1,710	85,700	0.021	1.860	119,900	0.030	3,570	72%	142,300	0.013	4,440
Yanacocha In-Process <sup>(3)</sup>	51.35%	13,100	0.030	330	2,100	0.022	60	15,200	0.030	3,370	78%	21,300	0.031	540
Total Yanacocha, Peru	31.3376	47,300	0.023	2,040	87,800	0.027	1,920	135,100	0.025	3,960	72%	163,600	0.025	4,980
La Zanja, Peru <sup>(8)</sup>	46.94%	7,300	0.045	120	14,100	0.015	210	21,400	0.016	330	66%	20,600	0.017	350
TOTAL SOUTH AMERICA	40.3476	54.600	0.040	2.160	405.300	0.021	8,590	459.900	0.023	10.750	73%	501.400	0.023	11,410
Asia Pacific		0.,000	0.0.0	2,.00	1.00,000	0.02.	0,000	100,000	0.020	. 0,. 00	1070	551,155	0.020	,
Batu Hijau Open Pit <sup>(9)</sup>	48.50%	127.600	0.017	2,110	196,100	0.005	1.040	323.700	0.010	3.150	75%	293,400	0.011	3,110
Batu Hijau Stockpiles <sup>(5)(9)</sup>	48.50%	0	0.011	2,0	156,900	0.003	490	156,900	0.003	490	70%	170,700	0.004	610
Total Batu Hijau, Indonesia	48.50%	127.600	0.017	2,110	353.000	0.003	1.530	480,600	0.003	3,640	75%	464,200	0.004	3,720
Boddington, Western Australia	100%	181,800	0.020	3,600	871,700	0.018	15,890	1,053,500	0.019	19,490	81%	1,067,700	0.019	20,300
Duketon, Western Australia (10)	16.85%	2,000	0.020	90	8,800	0.045	400	10,800	0.045	490	95%	6,300	0.055	350
Jundee, Western Australia	100%	3,100	0.160	490	700	0.237	160	3,800	0.174	650	91%	4,700	0.160	750
Kalgoorlie Open Pit and Underground	50%	13,300	0.059	790	41,700	0.056	2.350	55.000	0.057	3,140	85%	55,700	0.059	3,300
Kalgoorlie Stockpiles <sup>(5)</sup>	50%	53,900	0.023	1,260	0		_,	53,900	0.023	1,260	78%	15,100	0.031	470
Total Kalgoorlie, Western Australia	50%	67,200	0.030	2,050	41,700	0.056	2.350	108,900	0.040	4,400	83%	70,900	0.053	3,780
Tanami, Northern Territories	100%	6,200	0.156	960	10,500	0.149	1,560	16,700	0.152	2,520	94%	14,400	0.142	2,040
Waihi, New Zealand	100%	0		0	3,200	0.112	360	3,200	0.112	360	89%	4,200	0.110	460
TOTAL ASIA PACIFIC	100,0	387,900	0.024	9.300		0.017	22.250	1,677,500	0.019	31,550	82%	1,632,300	0.019	31.400
Africa		00.,000	0.02	0,000	1,200,000	0.0	22,200	.,0,000	0.0.0	0.,000	0270	1,002,000	0.0.0	01,100
Ahafo Open Pits <sup>(11)</sup>	100%	0		0	194,700	0.055	10,790	194,700	0.055	10,790	87%	148,300	0.064	9,540
Ahafo Underground (12)	100%	0	0.000	0	5,900	0.055	660	5,900	0.033	660	89%	140,300	0.004	3,340
Ahafo Stockpiles <sup>(5)</sup>	100%	21.000	0.030	630	5,900	0.11	000	21,000	0.030	630	86%	14.100	0.000	460
Total Ahafo, Ghana	100%	21,000	0.030	630	200.600	0.057	11.450	21,600	0.055	12.080	87%	162,400	0.062	10,000
Akvem, Ghana <sup>(13)</sup>	100%	21,000	0.000	030	144.500	0.057	7,390	144,500	0.055	7.390	88%	137,900	0.052	7.200
TOTAL AFRICA	10070	21.000	0.030	630	345.100	0.055	18.840	366.100	0.053	19.470	87%	300,300	0.052	17,210
		,			,		-,-	,						,
TOTAL NEWMONT WORLDWIDE	l	744,000	0.037	27,860	2,812,000	0.025	70,890	3,556,000	0.028	98,750	80%	3,274,300	0.029	93,500

- " Reserves are calculated at a gold price of US\$1,200, A\$1,250, or NZ\$1,600 per ounce unless otherwise noted. 2010 reserves were calculated at a gold price of US\$950, A\$1,100, or
- NZ\$1,350 per ounce unless otherwise noted. Tonnage amounts have been rounded to the nearest 100,000 unless they are less than 50,000, and gold ounces have been rounded to the includes reserves under development at the Emigrant deposits for combined total undeveloped reserves of 1.6 million ounces.
- (3) Reserve estimates provided by Barrick, the operator of the Turquoise Ridge Joint Venture.
- (4) In-process material is the material on leach pads at the end of each year from which gold remains to be recovered. In-process material reserves are reported separately where tonnage or contained ounces are greater than 5% of the total site-reported reserves and contained ounces are greater than 100,000.
- Stockpiles are comprised primarily of material that has been set aside to allow processing of higher grade material in the mills. Stockpiles increase or decrease depending on current mine plans. Stockpile reserves are reported separately where tonnage or contained ounces are greater than 5% of the total site-reported reserves and contained ounces are greater
   Project is under development.
- (7) Reserves include the currently undeveloped deposit at La Quinua Sur, which contains reserves of 0.8 million attributable ounces.
- (8) Reserves estimates were provided by Buenaventura, the operator of the La Zanja project.
- (9) Percentage reflects Newmont's economic interest at December 31, 2011.
- (10) Reserve estimates provided by Regis Resources Ltd, in which Newmont holds a 16.85% interest.
- (11) Includes undeveloped reserves at Yamfo South, Yamfo Central, Techire West, Subenso South, Subenso North, Yamfo Northeast, and Susuan totaling 3.2 million ounces.
- (12) Subika Underground project is under development.
- (13) Project is under development.

### Attributable Copper Reserves

#### Attributable Copper Reserves<sup>(1)</sup>

December 31, 2011												December 31, 2010		
Deposits/Districts  Newmont Share		Proven Reserves			Probable Reserves			Proven + Probable Reserves				Proven + Probable Reserve		
	Tonnage (000 tons)	Grade (Cu%)	Copper (million pounds)	Tonnage (000 tons)	Grade (Cu%)	Copper (million pounds)	Tonnage (000 tons)	Grade (Cu%)	Copper (million pounds)	Metallurgical Recovery	Tonnage (000 tons)	Grade (Cu%)	Copper (million pounds)	
North America														
Phoenix, Nevada	100%	24,900	0.15%	70	425,400	0.15%	1,230	450,300	0.15%	1,300	61%	332,600	0.15%	1,030
Phoenix Copper Leach, Nevada (2)	100%	9,900	0.24%	50	160,300	0.21%	690	170,200	0.21%	740	52%	132,900	0.23%	610
TOTAL NORTH AMERICA		34,800	0.17%	120	585,700	0.16%	1,920	620,500	0.16%	2,040	58%	465,500	0.18%	1,640
South America														
Conga, Peru <sup>(3)</sup>	51.35%	0		0	303,400	0.28%	1,690	303,400	0.28%	1,690	85%	317,200	0.26%	1,660
TOTAL SOUTH AMERICA		0		0	303,400	0.28%	1,690	303,400	0.28%	1,690	85%	317,200	0.26%	1,660
Asia Pacific														
Batu Hijau <sup>(3)</sup>	48.50%	127,600	0.51%	1,300	196,100	0.35%	1,370	323,700	0.41%	2,670	76%	293,400	0.44%	2,560
Batu Hijau, Stockpiles <sup>(4)(5)</sup>	48.50%	0		0	156,900	0.34%	1,060	156,900	0.34%	1,060	66%	170,700	0.35%	1,200
Batu Hijau, Indonesia	48.50%	127,600	0.51%	1,300	353,000	0.34%	2,430	480,600	0.39%	3,730	73%	464,100	0.40%	3,760
Boddington, Western Australia	100.00%	181,800	0.10%	350	871,700	0.11%	1,910	1,053,500	0.11%	2,260	83%	1,067,800	0.11%	2,360
TOTAL ASIA PACIFIC		309,400	0.27%	1,650	1,224,700	0.18%	4,340	1,534,100	0.20%	5,990	77%	1,531,900	0.20%	6,120
TOTAL NEWMONT WORLDWIDE		344,200	0.26%	1,770	2,113,800	0.19%	7,950	2,458,000	0.20%	9,720	74%	2,314,600	0.20%	9,420

<sup>(1)</sup> Reserves are calculated at US\$3.00 or A\$3.15 per pound copper price unless otherwise noted. 2010 reserves were calculated at US\$2.50 or A\$2.95 per pound copper price unless otherwise noted. Tonnage amounts have been rounded to the nearest 100,000 and pounds have been rounded to the nearest 10 million.

<sup>(2)</sup> Project is under development. Leach reserves are within Phoenix Reserve Pit.

<sup>(3)</sup> Project is under development.

<sup>(4)</sup> Percentage reflects Newmont's economic interest at December 31, 2011.

<sup>5)</sup> Stockpiles are comprised primarily of material that has been set aside to allow processing of higher grade material. Stockpiles increase or decrease depending on current mine plans. Stockpiles are reported separately where tonnage or contained metal are greater than 5% of the total site reported reserves.

### Attributable Silver Reserves

#### Attributable Proven, Probable, and Combined Silver Reserves (1)

	December 31, 2011												
Deposits/Districts by Reporting Unit		Proven Reserves			Proba	able Rese	erves	Proven R	Metallurgical Recovery				
	Newmont Share	Tonnage	Grade (oz/ton)	Silver	Tonnage	Grade (oz/ton)	Silver	Tonnage	Grade (oz/ton)	Silver			
North America		(	(* *** )	(*******)	(**************************************	(* *** )	(******)	, ,	(* *** )	(*** * * *)			
Midas, Nevada	100%	300	4.624	1,200	500	8.629	4,050	800	7.201	5,250	88%		
Phoenix, Nevada	100%	24,900	0.250	6,250	425,400	0.244	103,730	450,300	0.244	109,980	36%		
TOTAL NORTH AMERICA		25,200	0.296	7,450	425,900	0.253	107,780	451,100	0.255	115,230	38%		
South America													
Conga, Peru	51.35%	0		О	303,400	0.064	19,400	303,400	0.064	19,400	70%		
Yanacocha Open Pits	51.35%	18,500	0.081	1,490	71,100	0.137	9,750	89,600	0.125	11,240	25%		
Yanacocha Stockpiles (2)	51.35%	1,300	0.363	460	4,800	1.466	6,970	6,100	1.235	7,430	36%		
Yanacocha In-Process <sup>(3)</sup>	51.35%	0		О	59,500	0.485	28,840	59,500	0.485	28,840	12%		
Total Yanacocha, Peru		19,800	0.099	1,950	135,400	0.337	45,560	155,200	0.306	47,510	19%		
TOTAL SOUTH AMERICA		19,800	0.099	1,950	438,800	0.148	64,960	458,600	0.146	66,910	34%		
Asia Pacific													
Batu Hijau Open Pit <sup>(4)</sup>	48.50%	127,600	0.047	5,940	196,100	0.023	4,470	323,700	0.032	10,410	78%		
Batu Hijau Stockpiles <sup>(2)(4)</sup>	48.50%	0		О	156,900	0.015	2,430	156,900	0.015	2,430	72%		
Total Batu Hijau, Indonesia	48.50%	127,600	0.047	5,940	353,000	0.020	6,900	480,600	0.027	12,840	76%		
TOTAL ASIA PACIFIC		127,600	0.047	5,940	353,000	0.020	6,900	480,600	0.027	12,840	76%		
TOTAL NEWMONT WORLDWIDE		172,600	0.089	15,340	1,217,700	0.148	179,640	1,390,300	0.140	194,980	39%		

<sup>(1)</sup> Reserves are calculated at a silver price of US\$22.00, A\$23.00, or NZ\$29.00 per ounce unless otherwise noted. 2010 reserves were calculated at a silver price of US\$15.00, A\$17.50, or NZ\$21.50 per ounce unless otherwise noted. Tonnage amounts have been rounded to the nearest 100,000 unless they are less than 50,000, and gold ounces have been rounded to the nearest 10,000.

<sup>(2)</sup> In-process material is the material on leach pads at the end of each year from which gold remains to be recovered. In-process material reserves are reported separately where tonnage or contained ounces are greater than 5% of the total site-reported reserves and contained ounces are greater than

<sup>(3)</sup> Stockpiles are comprised primarily of material that has been set aside to allow processing of higher grade material in the mills. Stockpiles increase or decrease depending on current mine plans. Stockpile reserves are reported separately where tonnage or contained ounces are greater than 5% of the

<sup>(4)</sup> Percentage reflects Newmont's economic interest at December 31, 2011.

## Non-Reserve Gold Mineralization Supplemental Information

Attributable	<u>e Gola IVI</u>	<u>ıneralı:</u>	<u>zea ivi</u>	<u>ateriai</u>	Not II	<u>า Reser</u> ง	<u>ves`'^</u>					
		ineralized Material Not in Reserves <sup>(1)(2)</sup> December 31, 2011										
Deposits/Districts		Measured	Material	Indicated	Material	Measur Indicated N		Inferred Materia				
	Newmont Share	Tonnage	Grade	Tonnage	Grade	Tonnage	Grade	Tonnage	Grade			
		(000 tons)	(oz/ton)	(000 tons)	(oz/ton)	(000 tons)	(oz/ton)	(000 tons)	(oz/ton)			
North America												
Buffalo Valley, Nevada	70%	0	0.000	16,500	0.019	16,500	0.019	2,900	0.014			
Carlin Trend Open Pit, Nevada	100%	28,200	0.035	84,400	0.022	112,600	0.026	15,300	0.020			
Carlin Trend Underground, Nevada	100%	4,700	0.221	2,900	0.272	7,600	0.241	1,300	0.264			
Lone Tree Complex, Nevada	100%	0		2,200	0.023	2,200	0.023	5,000	0.016			
Sandman, Nevada	100%	0		600	0.050	600	0.050	2,100	0.048			
Midas, Nevada	100%	10	0.094	100	0.066	110	0.070	100	0.049			
Phoenix, Nevada	100%	0		216,400	0.012	216,400	0.012	132,300	0.012			
Twin Creeks, Nevada	100%	3,600	0.081	42,400	0.042	46,000	0.045	13,500	0.026			
Turquoise Ridge <sup>(3)</sup> , Nevada	25%	400	0.358	400	0.338	800	0.348	500	0.451			
Nevada Stockpiles <sup>(4)</sup> , Nevada	100%	3,100	0.039			3,100	0.039	2,300	0.043			
Total Nevada		40,010	0.065	365,900	0.020	405,910	0.025	175,300	0.018			
La Herradura, Mexico	44%	200	0.016	400	0.015	600	0.016	38,300	0.016			
TOTAL NORTH AMERICA		40,210	0.065	366,300	0.020	406,510	0.025	213,600	0.018			
South America												
Conga, Peru	51.35%	0		89,300	0.012	89,300	0.012	130,500	0.011			
Yanacocha, Peru	51.35%	7,000	0.015	18,400	0.017	25,400	0.016	106,100	0.023			
Merian, Suriname	50%	0		28,900	0.039	28,900	0.039	18,400	0.036			
La Zanja <sup>(5)</sup> , Peru	46.94%	300	0.004	300	0.004	600	0.008	2,100	0.015			
TOTAL SOUTH AMERICA		7,300	0.014	136,900	0.018	144,200	0.018	257,100	0.018			
Asia Pacific		,		,		,		,				
Batu Hijau <sup>(6)</sup> . Indonesia	48.50%	3.400	0.018	157.400	0.007	160.800	0.008	37.300	0.002			
Boddington, Western Australia	100%	25,100	0.012	493,400	0.014	518,500	0.013	53,100	0.016			
Jundee, Western Australia	100%	0		700	0.194	700	0.194	1,000	0.224			
Kalgoorlie, Western Australia	50%	6,100	0.035	17,200	0.032	23,300	0.033	300	0.078			
Duketon (7), Western Australia	16.85%	1,260	0.030	6,200	0.026	7,460	0.000	15,200	0.024			
Tanami, Northern Territory	100%	500	0.113	3,600	0.109	4,100	0.109	10,400	0.168			
Waihi, New Zealand	100%	0	00	2,100	0.243	2,100	0.243	900	0.195			
TOTAL ASIA PACIFIC	10070	36,360	0.019	680,600	0.014	716,960	0.014	118,200	0.029			
Africa	1	55,550	0.0.0	555,500	3.017	7.10,000	3.017	110,200	3.023			
Ahafo Open Pit, Ghana	100%	0		91,200	0.037	91.200	0.037	44,300	0.042			
Ahafo Underground, Ghana	100%	0		91,200	0.037	91,200	0.007	14,500	0.042			
Akyem, Ghana	100%	0		13,300	0.016	13,300	0.000	3,400	0.030			
TOTAL AFRICA	100 /6	0		104,500	0.034	104,500	0.016	62,200	0.059			
TOTAL AFRICA TOTAL NEWMONT WORLDWIDE		83.870	0.040	1.288.300	0.034	1.372.170	0.034	62,200	0.059			

<sup>(1)</sup> Mineralized material is reported exclusive of reserves.

Mineralized Material calculated at a gold price of US\$1,400, A\$1,475, or NZ\$1,850 per ounce unless otherwise noted. 2010 Mineralized material was calculated at a gold price of US\$1150, A\$1,350, or NZ\$1,600 per ounce. Tonnage amounts have been

 <sup>(3)</sup> Mineralized material estimates were provided by Barrick, the operator of the Turquoise Ridge Joint Venture.
 (4) Stockpiles are comprised primarily of material that has been set aside to allow processing of higher grade material in the mills. Stockpiles increase or decrease depending on current mine plans.

 <sup>(5)</sup> Mineralized material estimates were provided by Buenaventura, the operator of the La Zanja Project.
 (6) Percentage reflects Newmont's economic interest at December 31, 2011.

<sup>(7)</sup> Mineralized material estimates provided by Regis Resources Ltd, in which Newmont holds a 16.85% interest.

### Non-Reserve Copper Mineralization Supplemental Information

#### **Attributable Copper Mineralized Material Not in Reserves** (1)(2)

December 31, 2011												
Deposits/Districts	Newmont Share	Measured	Material	Indicated	Material	Measured + Mate		Inferred Material				
		Tonnage (000 tons)	Grade (Cu%)									
North America												
Phoenix, Nevada	100%	0	0.00%	216,400	0.09%	216,400	0.09%	132,300	0.10%			
Phoenix Copper Leach, Nevada	100%	0	0.00%	14,100	0.20%	14,100	0.20%	54,100	0.20%			
TOTAL NORTH AMERICA				230,500	0.10%	230,500	0.10%	188,700	0.13%			
South America												
Conga, Peru	51.35%	0	0.00%	89,300	0.19%	89,300	0.19%	130,480	0.19%			
TOTAL SOUTH AMERICA				89,300	0.19%	89,300	0.19%	130,480	0.19%			
Asia Pacific												
Batu Hijau, Indonesia <sup>(3)</sup>	48.50%	3,400	0.36%	157,400	0.33%	160,900	0.33%	37,300	0.25%			
Boddington, Western Australia	100.00%	25,100	0.07%	493,400	0.09%	518,500	0.09%	53,100	0.08%			
TOTAL ASIA PACIFIC		28,500	0.10%	650,800	0.15%	679,400	0.15%	90,400	0.15%			
TOTAL NEWMONT WORLDWIDE		28,500	0.10%	970,600	0.14%	999,200	0.14%	409,580	0.15%			

<sup>(1)</sup> Mineralized material is reported exclusive of reserves.

<sup>(2)</sup> Mineralized material calculated at a copper price of US\$3.50 or A\$3.70 per pound unless otherwise noted. 2010 mineralized material was calculated at a copper price of US\$3.00 or A\$3.50 per pound. Tonnage amounts have been rounded to the nearest 100,000.

<sup>(3)</sup> Percentage reflects Newmont's economic interest at December 31, 2011.

### Non-Reserve Silver Mineralization Supplemental Information

#### Attributable Silver Mineralized Material Not in Reserves (1)(2)

		December 31, 2011									
Deposits/Districts		Measured	Material	Indicated	Material	Measur Indicated I		Inferred Material			
	Newmont Share	Tonnage	Grade	Tonnage	Grade	Tonnage	Grade	Tonnage	Grade		
		(000 tons)	(oz/ton)	(000 tons)	(oz/ton)	(000 tons)	(oz/ton)	(000 tons)	(oz/ton)		
North America											
Sandman, Nevada	100%	0		600	0.238	600	0.238	2,100	0.167		
Midas, Nevada	100%	o	1.719	100	4.762	100	4.352	100	9.560		
Phoenix, Nevada	100%	О		216,400	0.173	216,400	0.173	132,300	0.197		
Phoenix Stockpiles <sup>(3)</sup> , Nevada	100%	9,900	0.423	196,000	0.051	205,900	0.069	230,300	0.075		
TOTAL NORTH AMERICA		9,900	0.425	413,100	0.116	423,000	0.123	364,800	0.123		
South America											
Conga, Peru	51.35%	О	0	89,300	0.047	89,300	0.047	99,100	0.033		
Yanacocha, Peru	51.35%	5,100	0.423	11,400	0.083	16,500	0.188	19,200	0.292		
TOTAL SOUTH AMERICA		5,100	0.423	100,700	0.051	105,800	0.069	118,300	0.075		
Asia Pacific											
Batu Hijau <sup>(4)</sup> , Indonesia	48.50%	3,400	0.039	157,400	0.026	160,800	0.026	37,300	0.015		
TOTAL ASIA PACIFIC		3,400	0.039	157,400	0.026	160,800	0.026	37,300	0.015		
TOTAL NEWMONT WORLDWIDE	-	18,400	0.353	671,200	0.085	689,600	0.092	520,400	0.104		

<sup>(1)</sup> Mineralized material is reported exclusive of reserves.

<sup>(2)</sup> Mineralized Material calculated at a silver price of US\$26.00, A\$27.50, or NZ\$34.50 per ounce unless otherwise noted. 2010 Mineralized material was calculated at a gold price of US\$18.00, A\$21.00, or NZ\$25.50 per ounce. Tonnage amounts have been rounded to the nearest 100,000.

<sup>(3)</sup> Stockpiles are comprised primarily of material that has been set aside to allow processing of higher grade material in the mills. Stockpiles increase or decrease depending on current mine plans.

<sup>(4)</sup> Percentage reflects Newmont's economic interest at December 31, 2011.